ZH|H Es il 28 S=HE
1. Indentation Test : 5 point 90,000 (ea)
ZH(indentation) 1. Indentation Test : 5 point 90,000 (ea)
2. DMA(SHE 7| A 22 : 5point 110,000 (ea)
1. Indentation Test : S5point 20,000 (ea)
NANO-IND 30point0| 4 578 Al, 71 Spoint'd 40,0003
point 37t 5 point & 20,000&
2. DMA(SHE7| A &) 2 E : 5point 40,000 (ea)
30point0| % &7 Al, 7} 5pointT 80,0008
= H(scratch) 60,0008/1%] 12| 60,000 (ea)
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LFA457  2C point & =7 Q2 2 (Z74s) 25°C~-200°C L 2C pointT =7t 0= @ (B7Hs) 254C~200°C
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b) 500°C~1000°C : 50,000& / temp. point RT~1000°C - 50,000 / temp. point
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4. Cycled™ =71 25: 30,0008/ =
HEMEay - 712 a8 AT 71F) 1.EF ATH2ZAZHED AL 30,0008/27H A7 |TIEESRATAIE) 1 ZR A[ZH2AIZHEDE A 30,0008/t AlZH
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STA 3) 800°C 0|3} - 80,0002 /A E 3) 800°C 0|3 : 80,0008 /A= 2. Crucible 2Z 4 A, 28 B3
b) 800°C =3 100,0008/A = 2. Crucible @ 248 A| #H H3 b) 800°C =3 100,0002/A = a) TG-DTA Crucible(30,0003/ ea)
b) TG-DSC Crucible (60,000 &/ ea)
1. =3 AILF 2AI7F =1t Al - 30,0008/5=71 Al{E
-T2 RS RMTHTIE) | E A7 AT R AL 30,0008/ AT - 72 RS RAMTHTIE)
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CTAMS a) BOO°C 03t : 100,0008/A1 2 - =T a) BOO°C 03t : 100,0008/A1 2 2. Crucible @ 248 A], &y B3

b) 800°C Z=3t: 150,000 /A2
) Mass =& - 100,0008/A 2

2. Crucible 25 &4 A &4 H7

b) 800°C Z=3t: 150,000 /A2
C) Mass =& - 100,0008/A 2

a) TG-DTA Crucible(30,0003/ ea)
b) TG-DSC Crucible (60,000 ¥/ ea)

Gas Pycnometer

. Solid, Film : 20,0008 /ea

. Powder : 30,0008 /ea
.=E7|IEE : 40,0008 /ea




